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The Assignment Statement
· The assignment statement is used to store a value in a variable
· Syntax 

variable = expression ;

where 
variable is a primitive type or object variable, and 
      
expression is a combination of literals, variables, and operators.

· Execution (two steps)
1. The expression on the right is evaluated.
2. The result is stored in the variable to the left.

· In evaluating the expression, Java follows a few simple rules we all remember from Algebra I (See “Java Arithmetic”)

· Example

String greeting ;


// declares a String object variable

greeting = "Hi" ;



// assigns a string

System.out.println(greeting) ;
// prints “Hi” (without quotes)
greeting = greeting + " Mom!" ;
// concatenation and assignment

System.out.println(greeting) ;
// what gets printed?

   Note that if we did this:

String name ;



// declare String variable

System.out.println(name) ;

// print it
   the compiler would complain about an “uninitialized variable.”
· It is a syntax error to use a variable which has not been assigned a value (i.e., an uninitialized variable)
· Another Example

int luckyNumber = 13 ;
// variable dec with initial value


System.out.println(luckyNumber) ; 
// prints 13


luckyNumber = 37 ;

// assigns new value


System.out.println(luckyNumber) ; 
// prints 37

luckyNumber = (2 * luckyNumber) - 1 ;
// assignment


System.out.println(luckyNumber) ; 
// what is printed?

Note that in the first statement above, the variable luckyNumber is declared and assigned an initial value.  In the 3rd and 5th statements, we assign new values, but we do not declare the variable again.  If we did, the compiler would complain.
· We declare variables only once (with or without initial values). After that, we may use them as often as necessary.
The assignment operator, = , should never be pronounced “equals” because an assignment statement is not an equation.  Instead, pronounce it “gets” or (even better) “gets the value of,” because the effect of the statement is that the variable to the left will get a new value.
